NP in B mixing
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NP in AF=2

Zsd ,~5— Rew — “bd 5 Rbs
LAaF=2= AZ (dryuse)? + A%(CLWUL)Q + AT(dL%bL)2 + ATS(SL%J?L)
NP NP NP NP
CPC NP
)
Amg/mg ~ 7.0x 107", VZsa 1 X 10° TeV  Ampg
Amp/mp ~ 87x1071%, — Anp > < VZew 1 X 103 TeV  Amp
AmB/mB ~ 0.3 X 10_14, A /Zva 4 X 102 TeV Amp
AmBS/mBS ~ 21X 10_12, | V/ bs 7 x 10! TeV AmBS
CPV NP
e ~ 2.3x1073, («/st 2 x 10* TeV  ex
A < 0.2, Zew 3 X 103 TeV  Ar
e = = Axp 24 Y :
S¢KS = 0.67:|:0.02, \/Zbd8 x 10° TeV SwK
Sps <L VZbs Tx 101 TeV Sy




NP in AF=2

_ bd bs
LAF=2 = e (dryusL)? + A%(CL%?LL) + AT(debL)2 + ATS(SL’Y,ubL)
NP NP NP NP
CPC NP
AmK/mK ~ 7.0 X 10_15, Zsd S 8 x 107 (ANP/TGV>27
Amp/mp ~ 8.7 X 10_15, : Zeu g D X 10_7 (ANP/TeV)27
AmB/mB ~ 0.3 X 10_14, Zbd S O X 10~° (ANP/TeV)27
AmBS/mBS ~ 21X 10_12, Zps S 2 X 10~ (ANP/TeV)27
CPV NP
cx ~ 2.3% 1073 < 6x1077 (Anp/TeV)?,
Arfyor < 0.2 | A< 1% 1077 (Anp/TeV)?,
R = il < 1x107° (Axp/TeV)?
Syrs = 0.67+0.02, bl X ’
Sps < 1 2. < 2x107* (Anp/TeV)?
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NP NP NP NP
SM (Asm~v) Zsa < 8% 1077 (Axp/TeV)?,
SM A7 .2 10 Zew < 5 X 1077 (Axp/TeV)?,
S(25a ) ViaVisl” ~ 10 6 2
5 64772 s 2pd S 0 x 10 (ANP/TG:V) :
22 ) _ < 2x107* (Anp/TeV)?
é)%(zgcll\/_[) 647_‘_2 ‘/vchCS‘Q 5% 10 9 Rbs X ( NP/ € ) Y
)‘2 * 8
2pg | ~ Y. 5 [ViaVip|? ~ 9 x 107 A< 6% 1079 (Anp/TeV)?,
A2 [ < 1x1077 (Anp/TeV)?
M) N Vi~ 3 100 z(;u < 1 x (Anp/Te )2,
647 2 < 1x107° (Anp/TeV)?,
2. < 2x107* (Anp/TeV)?.
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LAF=1 = Ysd drZst + Yeu urZcr + Yy dpZbr + Yus SLZbr
AXpcw AXpcw AXpcw AXpew

SM (/\SM"‘V)

Sd G4 B(KT — ntvp) ~8 x 1071,
Ad . - +, - 10
Uha' | ~ g |VeaVi| ~ 1077 =  B(By—putp)~10710,
SM )\% . B(Bs — ,LL+,U_) ~ 4 X 10_9 .
Yps | ™ 6472 ‘/;fs t}l; ~ 6 Xx 10~




